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Fill in the missing numbers.
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WALT: Sublracl one—digil numbers

Find the difference belween the number of blocks in the lop row
and the bollom row.

The difference belween 8 and 5 is .
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Find the diﬂerence belween the number of blocks in the lop row and the

bOH’Om row. Write H’le malching number senlence o,nd answer.
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Find the diﬂerence belween the number of blocks in the lop row and the

bOH’Om row. Write H’le malching number senlence o,nd answer.

g\ g
4@ ’ o o

34 56 7 8 91011121314 1516 17 18 19 20 21 22 23 24 25 26 27 28 29 30
L L[|

v =My 0 to 30 Number Line %}Z i




A ) _ [
9 | = 9
3 - 3
6 3 - 6
A ¥ ]
10 = 3 20
q - 5 9
] 3 = 17
| = 5
= b

a"Use counters/cubes/raisins/a number line/fo,milg J:acts lo help Hou!




2] - = |7
- 3 = |7
30 - 6 =
|4 - = 9
25 - = 8
26 - = 7
- 8 = |
- 6 - 2k
29 - - b
8 - 9 =

a'&Use counters/cubes/raisins/a number line/familg J:o,cts to help 5OU!
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